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B BNER

9A

9.1 BEOEEHE B &
1. e R .
R{E & K E BINKE 28
(a) $70 $84
(b) 450 cm 36 cm
(c) 120 mL 30 mL
(d) 35s 40%
(e) 75 m> 15%
(f) $150 50%
2. S F &,
[R{E & WA HE BN EDE
(a) 60 L 12 L
(b) 25 km 10 km
(c) 240 s 60 s
(d) $870 10%
(e) 36 cm 12%
(f) 19 mm 5%




3. HEH FARIRIE R 20°C , MIIEAAGIRIE LTFE 24°C , SR Bk ) A 5 8 i) i
S,

T RERR = ( ) ( ) = ( )
ﬁ&%%%ﬁﬁﬁz(zo)xmm4
= ( )

4, — % 375 mL BUACRELEN, , W 60% 18, iR A ?

L W TR = 375 X ( ) mL

fife B Ry R

5. W GRAERZHSZH EEiE 1 20% SR $12 , K
(a) MRS
(b) EHEHBRFH L,

Ll @ EAEMERINE =

(b) HIABMEN X =



6. WIREZMH B 15% 2 &K1 $9 200 , MLEEMHEHLEE A 2

REABIE A A $
Al




B B
9B

9.2 EFE B &
1. WSEH T,
PN FE R B RS BERE ZFF
(a) $2 000 5% 14F
(b) $50 000 3% $3 000
(c) 10% AR $500
(d) 2 4 $330 $2 530

2. $t¥ $25 000 , 4ERIRLS 4.6% , FRWH RFHE, MEZ AR A @8 $43 000 ?




3. fB—ZRIEA K 20 A H R AR R $2 310 . WERFEFRE 6% , LHEA L5t
W, MgREsEEZ D ?

A=p(1+50)

BP 2310 =

4. NI $4.000 FEASRAT 55 4 . IRDAHLALRGIT , WIH T AR AT $4 660
&

(@) FIFAEFE s
(b) AEFIE,

(@) TIHIELFIE =

(b)



5. {53 $900 DA 4% HILERIFRAZE AT , [FIREK HIE $860 YL 4.5% MR RIEA S —
M8RTT, WA EFE, 34%, #RNANMKL ? ZHEd 2



B B
9C

9.3 #EAE B

1. R T, (A FR, REEEEZZIETHLT, )

x& FR= BREMtE A A FIH
(a) $10 000 5% BEAE—IK 24
(b) $3 000 10% REAE— IR 74
(c) $2 500 4% BEAPAE—IK 3 4F
(d) $1 200 6% HE—K 14

2. DMAERIR 4% 88 — 88 , Z W 34F , B4R R Bk o 4 5P B A4 AR F1) Ain
$28 121.6 , RiZFEEEM FAEH

FEAEIIRL K = 4%



3. 48 $125 000 DA 8% MAEFIRBE 2 48, WERBAEGH AL 0, KEHLEHEER B
2 o

HF B =

AR B 5t B AR A =

ﬁ *l‘l )E\ =

4. TV 10% WFERRBE —FHH , BRFEFHENE K., R 2 FEMAF
& $38 896.2 , KiZFKIH

R BRI $P

mpeEmix =L - )
1E 2 R DREL— B e =

( e
38 896.2=Px(1+——160—>

P =



BHOBHEH

EREID
9D | =<
2<9.4 TEHIEFER B
1. R FE., (M EFHsHE ., )
FiNG 3 FO FHR= B RS T2 Z<F) 1
(a) $10 000 1 458 W 6% 2 4
(b) $8 000 3 Ml H & 8 12% 6 18 H
(c) $70000 | 6 fifl A &1 10% 1% 4
2. TR, (MBS FRARERBAHL, wHEE REZERE T FIEEY
$0.1. )
x& FO F R (=3 AR F0 FE
(a) $5 000 6 fifl H =& 1 6% 14
(b) $25 000 3 fifl H & Wi 8% 9 & H
(c) $30 000 145 # 5% 4 5

3. KW A $20 000 . HAE $10 000 PLAEFIR 6% fFA 2 HH & WIAE#05F 1 (45 1301 786
APE WA ), 88 T $10 000 UERIR 49 FEAREE PO, ¥R EEE

APERIE MR DR B 2
(B EIARHERIFLG T, )

RS T

FE =



AR
B 2 8 H HFR =

15 6 3 WA 2 8 Js— I 014 =

o CEAERIARFI R =
F R =
o J PR T TR R AR

4. {8 $25 000 PAAERIR 12% fEA L H @ Wi F 10, 2 18 M o REE F A
A ASF) Fl

(@)  FFIYTIYTGR I S BT 9 R B

(b)  BEITH] G 0 A R E B R
(o HER, MEEREEZRIERHT, )

&

(b)  HE(E T AFI & =



5. {1 $32 000 fEA 3 T H @WK 11, A 14, & 9 MHWERKE 10% , miR
N3 EH BRI RN 8% o W A I REAS S IR B, KAR S
(B EMBEHERFEVN $0.1 , )



BORNEH

9E

9.5A

LA TE Y 248 A1

A

1. R TE, (A EL, RAEEEZ miEn ey ¥, )

RE SEBMHER B RS $i{E
(a) 10 000 5% 10 4
(b) $50 000 20% 3 4F
(c) 200 000 9% 74
(d) $1 500 100% 5 4F

2. HEMIEREHE L 35000 5%, WARFEREHUFE 15% WERBEHE R, M 5 41%
HERMEEZA ?
(AEAREZTIL, )

5 4EEMIIERBH = 35 000 x ( )

3. MHE 24 T DA $50 000 Mg A— 4 oy F 8% . W R % T B (DL B 4F 10% MR 1Y
e, SRB R % SR A B ME .

TSR =



